Admiral AAV1000AWW 05 - TRANSMISSION

Admiral Residential Admiral AAV1000AWW Washer Parts Parts Diagram 05 - TRANSMISSION
Click on the part number to view part

Item Original Part Number

1 265-7941

2 21001065

3 35-3829

" 12001797

4 LA-2007

5 21001533

6 35-2132

7 21001515

8 265-7854

9 21001508
10 36-2205

11 35-2007

" W10124350

Replaced By

12002213
12002213
12002213

35-5655-1

12001598

12001561

Status

Not Available

Part Description

"O" Ring, Agtr Drive Shaft
Screw, No.10-24 x .50 Hxnibhd
Thrust Bearing Kit

Thrust Bearing Kit

Thrust Bearing Kit

Seal

Washer, 1.250DX.5301DX.032
Washer, 1.250DX.5301DX.062
Tub Seal Assembly--W

Ring, Retaining

Bearing And Seal Housing
Assembly

Bearing, Spin
Cap, Dust

NOT REQUIRED PART OR
SEE NOTE KITTED WITH
PULLEY ITEM No.3


http://www.pwslaundry.com/c-502708-residential-admiral-aav1000aww-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10395354-admiral-25-7941-washer-dryer-o-ring-agtr-drive-shaft.html
http://www.pwslaundry.com/i-10392937-admiral-21001065-washer-dryer-screw-no-10-24-x-50-hxnibhd.html
http://www.pwslaundry.com/i-10392996-admiral-12002213-washer-dryer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10392996-admiral-12002213-washer-dryer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10392996-admiral-12002213-washer-dryer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10396032-admiral-35-5655-1-washer-seal.html
http://www.pwslaundry.com/i-10392758-admiral-35-2132-washer-dryer-washer-1-25odx-530idx-032.html
http://www.pwslaundry.com/i-10392651-admiral-35-2082-washer-dryer-washer-1-25odx-530idx-062.html
http://www.pwslaundry.com/i-10395356-admiral-12001598-washer-tub-seal-assembly-w.html
http://www.pwslaundry.com/i-10392653-admiral-25-7854-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10393016-admiral-12001561-washer-dryer-bearing-and-seal-housing-assembly.html
http://www.pwslaundry.com/i-10392713-admiral-35-2205-washer-dryer-bearing-spin.html
http://www.pwslaundry.com/i-10392659-admiral-35-2007-washer-dryer-cap-dust.html

12 35-2205 Bearing, Spin

13 21001518 Support, Tub

15 25-7895 21001858 Screw 5/16-18 x 1/2

17 35-2017 Retainer, Brake Spring

19 25-7930 21001858 Screw 5/16-18 x 1/2

21 35-2948 35-6714 Brake Roto

23 35-2018 35-6918 Stator, Brake

25 21001536 35-6615 Ht TranS S



http://www.pwslaundry.com/i-10392713-admiral-35-2205-washer-dryer-bearing-spin.html
http://www.pwslaundry.com/i-10393017-admiral-12001562-washer-dryer-bearing-assembly.html
http://www.pwslaundry.com/i-10392939-admiral-21001518-washer-dryer-support-tub.html
http://www.pwslaundry.com/i-10392941-admiral-21001532-washer-brace-tub.html
http://www.pwslaundry.com/i-10392990-admiral-21001858-washer-dryer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-10392943-admiral-21001163-washer-housing-suspension.html
http://www.pwslaundry.com/i-10392645-admiral-35-2017-washer-dryer-retainer-brake-spring.html
http://www.pwslaundry.com/i-10392992-admiral-21001910-washer-dryer-spring-brake.html
http://www.pwslaundry.com/i-10392990-admiral-21001858-washer-dryer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-10392945-admiral-21001509-washer-screw-high-performance-plastic.html
http://www.pwslaundry.com/i-10396036-admiral-35-6714-washer-dryer-brake-roto.html
http://www.pwslaundry.com/i-10392965-admiral-21002026-washer-dryer-snubber.html
http://www.pwslaundry.com/i-10392994-admiral-35-6918-washer-dryer-stator-brake.html
http://www.pwslaundry.com/i-10392996-admiral-12002213-washer-dryer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10396034-admiral-35-6615-washer-ht-trans-s.html
http://www.pwslaundry.com/i-10395356-admiral-12001598-washer-tub-seal-assembly-w.html

	Admiral AAV1000AWW 05 - TRANSMISSION

